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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 39,764 86,462 41,259 45203
RIRET1T 6 15 9 6
RIRET2T 29 58 29 29
AIEET3T 182 594 288 306
AIRET4AT 416 1,000 500 500
B 633 1,667 826 841
REH 2,693 6,074 2,833 3,241
L&A 4,339 9,503 4,435 5,068
BE 2,613 5,964 2,893 3,071
B AN 1,266 2,794 1,313 1,481
BERT 1,368 1,984 941 1,043
BER2T 786 1,425 692 733
BERST 464 1,041 488 553
B 2,618 4,450 2,121 2,329
BEXRE 279 658 325 333
= 2,212 5,074 2,407 2,667
hERE 638 1,434 660 774
e 2,477 5,169 2,503 2,666
25 L ET 2,322 5,095 2434 2,661
B &AL BT 80 160 65 95
HEFILET1T 570 1,208 565 643
HEFILET2T 621 1,319 618 701
HEZFILAT3T 636 1,448 714 734
g 1,907 4,135 1,962 2,173
B & it B Fr ET 689 1,592 773 819
BHEREBET1T 594 1,220 591 629
BHERERET2T 769 1,725 825 900
BHERERETST 768 1,594 720 874
BHERERET4T 513 965 457 508
HEKERETST 851 1,740 831 909
HEERET6T 896 1,954 949 1,005
BHERERET7T 863 1,809 895 914
HERERETST 68 209 101 108
£t| 5322 11216 5,369 5,847
HEF R FET 1,940 4,082 1,997 2,085
S|EFET1T 604 1,563 787 776
S|EFET2T 768 1,747 828 919
S|EFET3 T 758 1,430 653 777
g 2,130 4,740 2,268 2,472
ERE1T 587 1,358 658 700
EIRET2T 394 1,048 525 523
EREIST 510 1,338 653 685
EIRETAT 691 1,479 658 821
EIZEIST 539 1,094 561 533
g 2,721 6,317 3,055 3,262
ME A 2,859 6,298 2,996 3,302
J\THET1T 29 30 12 18
J\THET2T 27 60 30 30
J\THEI3T 50 110 47 63
B 106 200 89 111
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